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logarithmic V. . Vgo, Vo, Lo data  uy=(\-550)/5(
logV. =(log/VigtlogLe)/2 logo=—0,35u)-u
logVgo=logV . +0,02 logL o=—0,35[u)-Us7q
l0g[Vgo, V. ., Adaptation: A=

0
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log(V . m)=-0,02]
V. m=0,94
Threshold
tz=0,00, =0,00

R:545, 557, 570
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log©¢=—0,35u)-u 12
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109[Vgo, V. -+ Co, 0l Adaptation: A =570

0

570

maximum
O gV
& Vo044
| Sy Threshold
-1 + 3,1a=0,00, £=0,00
AY

EE350-7A R520, 570, 620
EE350-7N

Up=(A-550)/5(

Up=(A-550)/5(

logarithmic V. ., Vgo, Vio/V - Lo/V. - Ux=(A-550)/5(

logV. =(log)o+logLe)/2 loghie=—0,35[y=Us.]?

logVgo=logV . +0,02 IogL0=—0,35[J)\—u57o]2

l0g[Vgo, V... MoV, Lo/V. ] Adaptation: A=
570

maximum
oV LoV log(\V. ~0,02]

m
Threshold
1a=0,00, £=0,00

3 U
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logV. =(log o+logte)2 log 0=-0,35uy-u ]2
log©o=-0,35[u)-u ]2
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log(V . m)=-0,35]
V. m=0,44
Threshold
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logarithmic V. ., Vgo, o/V. - Lo/V. - Uyx=(A-550)/5(
logV. =(log - o+logLo)/2 log - o=-0,35[-u ]?
logVgo=logV . +0,35 logL o=—0,35[u)~Us7q?
l0g[Vgo V., “o/V. . Lo/V. ] Adaptation: A. =
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\
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log(V . m)=-0,35]
4
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LoV Threshold
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3 U
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logarithmic V. . Vgo, “o/V. . o/V. . Ux=(A-550)/5(
logV. =(log-otlog o)/2 logo=—0,35[u\—u.-]?
logVge=logV . +0,35 log 0=-0,35-u ]2
l0g[Vgo, V. . CofV ., o/V. ] Adaptation: A- =570
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\
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log(V . m)=-0,35]
V. m=0,44
Threshold
t5=0,00, =0,00

1 3 u,

600 700 A/nm
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logarithmic V., Vg, Vo, Lo data  uy=(A-550)/5(
logV. =(loglio+logLe)/2 loghip==0,35[y=Us.]?
logVgo=logV . +0,02 logL o=—0,35[u)—Us7q
10g[Vgo, V. -, Mo, Lol Adaptation: A, .=

0 .
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log(V . m)=-0,01]
V. m=0,97
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WNz=0,03, ,=0,00
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logarithmic V. Vgo, o Codata  uy=(\-550)/5(
logV. =(log o+logCo)/2 log 0=-0,35up-u ]?

log©¢=-0,35[u)-u ]2
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maximum
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logVgo=logV. +0,35 logL o=—0,35[uy~Us7d2
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Threshold
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TUB-test chart EE35; Relative elementary colour vision

Sensitivities logLMS-R17_M$and combinations; thresholg=D,00 (left) and 0,03 (right)
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logarithmic V. ., Vgo,

logV =(log' o+loglL)/2

logVgo=logV. +0,02

logVlo=—0,35[)~Us.]?
|OgL0=—0,35[J)\—U57o]2

log[Vgo, V. . Mo/V. ., Lo/V. ] Adaptation: A=

570

oV

maximum

LoV |\(}g(\/_ m)=—0,01]

m=0,97

3 Uy,

EE351-2A

logarithmic V., Vgo, o/V

logV. =(log o+log‘)/2
logVgo=logV. +0,35

700 A/nm

$1545, 557, 570
oV Ux=(A-550)/5(
log ©=—0,35u)-u ]2
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Threshold
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logV. =(log - o+logLo)/2 log - o=-0,35y-u ]?
logVgo=logV. +0,35 logL o=-0,35[U\—Us7d?
log[Vgo V., “o/V.. . Lo/V. ] Adaptation: A. =
570

\
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EE351-6A S470, 520, 570

logarithmic V. ., Vgo, “o/V

logV. =(logCotlog )2 logto=—0,35[uy-u.-]?

logVgo=logV . +0,35 log 0=-0,35)-u ]2
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